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Twinklr Gupta 13 hours ago
And. Sir m aapki late dekhti hu..gki housewife hu toh..mrng m time nhi mil pata.. but fir v muze aapki class m bht mza aata
h gki maths smz aati h. thank you sir g,

Twinklr Gupta 13 hours ago
Thank you maths guru for the wonderful session.. and to make our life easy..gqki is maths ne bht tention diya hua tha..but
thank you sir.. aapke session se umeed h Puri. ki aapka session agr hm ache se kr le toh sare exams clear ho jane h

Diksha Shukla 22 hours ago

sir u increase our self confidence in the class.
the answer is 6 hrs
thank you so much sir for ur time and teaching it really is a blessing for all of us. J,

Rimpa Das 21 hours ago

6 hours. Mohit.. 19 hours ago

% 1 T REPLY Thank-you Sir for today’s Amazing Class..,, &

And
Monika Kumari 22 hours ago My Answer for today’s Homewark is-
6 hours

Option B == 6 hrs.

e 7GR REPLY . , Priya Gupta 9 minutes ago

Usual SpEEd =750 kmph &7 Homework ans - 6 hours

Amazing session sir

w 7%+ 1 REPLY

w 7%+ 1 REPLY

reel shahel o e Thank-you So Much, SirJ
rs




Muskan Rai 22 hours ago

thanku sir for wonderfull session this is my second class and i love it...thank u for ur guidance
answer -6hours

please do some class for ratio and proportion and percentage

Sakshi Juneja 21 hours ago
thanku so much sir ette aache session K liye apke tricks use krke ab confidence aara..
answer for the hw ques is 6 hours

Tanisha p 12 hours ago Yashi Kasera 16 hours ago

Thank you si 6hours hoga answer

: Thank sir for the amazing session &
HW-— 6hr
e 1 GF REPLY
e 1 GP REPLY
+ 1 REPLY
» 1 REPLY

ATUL_VERMA 11 hours ago

6hrs... o
' raes H-::-rrrw.'w._.urh answer: 6 hours

-

) Priya Gupta 92 minutes agc
¥ % ya BSup ' @ ANJALI SHUKLA 13 hours age
 Homework ans - 6 hours A

Amazing session sir

Shubham sir hai to sambhav hai...




If two bags A and B contain balls in the ratio 2:3. If 40 balls taken out from
bag B and add in bag A then the ratio of both bags will become 12:13. Then

find total number of balls?

afS &Y T A S B § IS 2: 3 o S7uTd | ¥ A ST B & 40 7 Frehredt ATt ¥

R AT A W FreAr & Srelt € A S S eht STuTd 12:13 B ATCT AT St Ay

el AT [T hifoTa?
A.300
B.400
C.500
D.600
E.NOT



If two bags A and B contain balls in the ratio 2:3. If 40 balls taken out from
bag B and add in bag A then the ratio of both bags will become 12:13. Then
find total number of balls?

A.300
B.400
C.500
D.600
E.NOT




In a class the ratio of boys and girls are in the ratio 7:10. If 80 boys and 80
girls leave the class then ratio becomes 6:11. now Find the new number of

student?
USh heTT H oTgehl 3T STSfehal Sht 319UT 7:10 21 ATS 80 TSk 3R 80 wfowat
HET BIS I & Al FTUT 6:11 BT AT 81 1 Toremeff skt 75 wear ana i

‘4 > S A.400
€Y ) B.240
C.320
D.550

E.NOT




In a class the ratio of boys and girls are in the ratio 7:10. If 80 boys and 80 .

girls leave the class then ratio becomes 6:11. now Find the new number of
student?

A.400
B.240
C.320
PRI
ey D.550
\;;}-@ E.NOT



In a class the ratio of boys and girls are in the ratio 2:5. If 40 boys and 190
girls leave the class then ratio will become 1:2. Find the number of girls?
Uh heTT H oTgehl 3T STSTehal ShT 1T 2:5 B AT 40 1<k 37 190 weforat
HETT DI 3 & AT ATUTA 1: 2 TV AU STShAT chl HEAT [T ShITTA?

(S=1) \> 1.220
3.440
4.550

5.NOT



In a class the ratio of boys and girls are in the ratio 2:5. If 40 boys and 190
girls leave the class then ratio will become 1:2. Find the number of girls?

1.220

2.330

5 3.440
*«;yg 4.550
5.NOT



A container contains milk and water in the ratio 3:4. If we added 17 liter
water then the ratio becomes 5:7. Find the initial quantity of milk?

Teh S W g8 ST UTHT ST SATUTA 3:4 31 TS 2W 17 eftet art e § ot srqura
5: 7ﬁw%|aaaﬁmrﬁmwmaﬁﬁ'&

1.75
2.255
3.595
4.210
5.NOT



A container contains milk and water in the ratio 3:4. If we added 17 liter
water then the ratio becomes 5:7. Find the initial quantity of milk?

1.75
2.255
e 3.595
*;y\\ 4.210
5.NOT



If some amount was divide among A and B in the ratio 4:5 but mistakenly is
will divide in the ratio 2:1. Therefore, A gets 140rs more. Then find total
amount?

afe o ARTHRT A 3R B & 5= 4: 5 o 1quTa § foswfsra foram wm o, aife
T & 22 1%Wﬁ%wrﬁlﬁﬁ?mmlguﬁq A <hT 140 rs 3TTereR WeTd
%la‘rwrrﬁfrmﬁﬁ@r

A.560
B.630
C.320
D.540
E.NOT




If some amount was divide among A and B in the ratio 4:5 but mistakenly is
will divide in the ratio 2:1. Therefore, A gets 140rs more. Then find total
amount?

3} A.560
B.630

ey C.320
v
o D.540

*1? \[0]1}
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In a container the ratio of milk and water are in the ratio 3:10. if 35 liter milk

and 35 liter water is added then the ratio of milk and water will become 2:5 .
then find the initially quantity of mixture?

Teh shetd H 8 S UTHT T STTUTA 3:10 o STTUTA H 21 Afe 35 e 34 31K 35
Fﬁamﬁﬁlﬁmm%?ﬁa@xﬁwﬁrwmz 5 2 STTuT, | farsror sy
T A.262

B.252
C.273
D.233
E.NOT
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In a container the ratio of milk and water are in the ratio 3:10. if 35 liter milk
and 35 liter water is added then the ratio of milk and water will become 2:5
then find the initially quantity of mixture?

A.262
B.252
C.273
D.233
E.NOT




If the income of A and B are in the ratio 3:2 and their expenditure are in the
ratio 6:5. if they save 3000rs and 1500rs respectively then find the income of

B?
qfs A 3T B hY 3T 3:2 o T | & IR ITRT ST 6:5 o T A gl AG
SHUIT: 3000 AR 1500 TIY TATA & AT B Thi 1T AT hiTTL?

7 =\ A.6000
( 20 }> B.10000
S ¢ C.4000

D.2000
E.NOT




If the income of A and B are in the ratio 3:2 and their expenditure are in the .

ratio 6:5. if they save 3000rs and 1500rs respectively then find the income of
B?

A.6000
B.10000
C.4000
D.2000
E.NOT




If some amount had divided among A, B and C in the ratio 2:3:4 but
mistakenly it divided in the ratio 7:2:5. Therefore, B losses 400rs. Then find

total amount?

af FHH ARTHRT A, B 3R C & < 2: 3: 4 % 31uTa A fasicra fera wa a,
Srf ToTe & S 7 2 S%Wﬁﬁwﬁﬂmwml'ﬂ:ﬁﬁn B 400rs ST
THTT HIAT Bl ﬁgﬁﬂﬁmaﬁﬁ'&-

= \> A.210
C.350
D.400

E.NOT



If some amount had divided among A, B and C in the ratio 2:3:4 but .

mistakenly it divided in the ratio 7:2:5. Therefore, B losses 400rs. Then find
total amount?

A.210
B.420
C.350
D.400
E.NOT




A shopkeeper gets 10% profit but if he reduces its cost price by 27 and selling
price by 27 rupees then profit will be 15%.Calculate cost price?

Teh SehTE R shl 10% T UTH BIAT g Tiichd id TE $8ch shdl Uod <hl 27 TUH

hHH o oAl g R Tershl Tedr 27 TUA 7 R IAT & A1 ATH 15% BRI 0Td Hed

T TUTET T2

B.54
C.81
D.120
E.NOT



A shopkeeper gets 10% profit but if he reduces its cost price by 27 and selling
price by 27 rupees then profit will be 15%.Calculate cost price?

A 27

B 54
- )
o :

L8
L E.NOT



Two equal container contain mixture of milk and water are in the ratio 5:2
and 7:6 respectively. If we mixed both mixture then find the ratio of milk and

water?

2 SR SheAt § Y SR UTHT ShT Fsror ShAer: 5:2 3R 7:6 o AT | 81 91S 30
aﬁﬁﬁr&waﬁfﬁméa‘ra&raﬁwﬁraﬁrwmaﬁﬁq

e A.3:1
:y\> B.57:34

N4 C.32:17
D.12:7
E.NOT




Two equal container contain mixture of milk and water are in the ratio 5:2
and 7:6 respectively. If we mixed both mixture then find the ratio of milk and
water?

D G

= C.32:17

L8
L E.NOT



Fresh fruit contains 68% water and Dry fruit contains 20% water. How
many kg of dry fruit can be made from 200 kg fresh fruit?

AT et W 68% UTHT 1T § 3T & Hal § 20% UTHT gt 21 200 fhett arel vt
¥ fera forett T Wy 91T 1T |ehd &2

A.100kg
B.80kg
C.120kg
D.240kg
E.NOT




Fresh fruit contains 68% water and Dry fruit contains 20% water. .
How many kg of dry fruit can be made from 200 kg fresh fruit?

A.100kg
B.80kg
C.120kg
D.240kg
E.NOT




A shopkeeper gets 25% profit but if he reduces its cost price by 20 rupees

and selling price by 17.5 rupees then profit will be 40%.Calculate cost price? .

Teh SehTHE N hi 25% TITH UTH BIAT & Tich die T8 $8ch hdl Tod H 20 TUA <hl
AT AT § SR Torshl Hed W AT 17.5 TG § AT ATH 40% TR AW Hed <h

TUTT hi?
C.70

D.40
E.NOT




A shopkeeper gets 25% profit but if he reduces its cost price by 20 rupees .
and selling price by 17.5 rupees then profit will be 40%.Calculate cost price?

A.80
B.100
C.70
D.40
E.NOT




If the ratio between pass and fail students S:7. If 52 students failed less then
passed and fail ratio will become 4:3. Find total number of students?

Aty 3ol 3R rFxiIvt BT o sfter &1 71Ut 5: 7 21 afe 52 forameff & eriol
I ¢ AT 30T SR STFTAUT STTUTA 4:3 FY ST Teramfera sht shet W& 71

EAIE Y
7~ A330
—-)\> B.334
i Ci336

D.230
E.NOT




If the ratio between pass and fail students 5:7. If 52 students failed less then .
passed and fail ratio will become 4:3. Find total number of students?

A.330
B.334
C.336
D.230
E.NOT




How many job applicants had applied if the ratio of selected to unselected was
19:17. If 1200 less had applied and 800 less selected, then the ratio of selected
to unselected would have been 1:1 ?

feRae JTeRil STTageRT = STTaE fohaT 9T e ST AR o™i T FATUT 19:17 9T
IFE 1200 HH T ATAST FRIAT FAT T 800 HH AT BT, AT TA T T AT AT

FIITE 1:1 FIAT2
(@)

A.6000
B.7200
C.8400
D.4800
E.NOT



How many job applicants had applied if the ratio of selected to unselected was
19:17. If 1200 less had applied and 800 less selected, then the ratio of selected

to unselected would have been 1:1 ?

A.6000
B.7200
C.8400
D.4800
E.NOT




Ratio of Land : water on earth is 1:2 and ratio of land : water in northern
hemisphere is 2:3. Find the ratio of Land : Water in southern hemisphere?
gt U W SR ST ST ATUT 1: 2 7 AR IT TeArel | A Tt 61 A7t
2: 3 1 STRAUt TATE | I 3T ST T ATUT AT shitT?

R K 8 4-11
C.1:2
D.1:1
E.NOT



Ratio of Land : water on earth is 1:2 and ratio of land : water in northern
hemisphere is 2:3. Find the ratio of Land : Water in southern hemisphere?

A.3:11
B.4:11
C.1:2
D.1:1
E.NOT




If an examination, the number of those who passed and the number of those
who failed were in the ratio 4:1. If 35 less had appeared and the number of
failures were 9 more than earlier, the ratio of students who passed to the
number of students who failed would have been 2:1. Find the total number

who appeared at the examination?

AT Uk URTRT W ITAAUT §I ATAT hl HEAT 3 SIFTAVT S ATAT chl HEAT 4:1 3 SITUTH

T off) Afq 35 W IARCAT FY BT 3R FAITIUT B1 SATCAT ch TEAT TEA ehl TeTH 9

3TFereR BYAT, T ITNUT BI STCA BTAT BT TN B1 STl BTAT chl EEAT BT STATA 2:1

FNAT| T{TeAT § IUTRYA B SATAT Shi Shel TEAT T ShITT0? A 135
B.155
C.165
D.205

E.NOT




